Honors Algebra Hl Name
. Unit 4B: Polynomial Functions : Fundamental Theorem of Algebra Practice 3

Verify that the zero given is a factor of the polynomial. Then find the remaining zeros.

1. x=5i, f(x)=2x° +3x* +50x+75 2. x=2i, f(x)=2x" =’ +7x* ~4x -4
3. x=5i, f(x)=x*—x* +25x~25 ‘ 4, x=5+2, f(x)=x*-7x* —x+87
5. x=4+2i, f(x)=x"-5x* —4x+60 6. x=3-2i, f(x)=x"—9x" +31x -39
7. 8

x=1-3i, f(x)=x*+6x+20 : x=1+1f\/§,j’(x)=x4 —2%° +10x° —12x+24

Write a polynomial function of minimum degree in standard form with real coefficients whose
zeros include those given.

9. 2 (w/multiplicity of two), i 10. 4, 2-3i 11, 1+3i, 3-i
12. =2, 1++/5 13, 2, 1-+/3 14, —2,%,2+3i
15. 4—i, 143 16. % 1-i, i2

Use Descartes’ Rule of Signs to determine the possible numbers of positive and negative real zeros
of the function. Then determine the possible combinations of positive, negative and imaginary

‘ solutions.

17. f(x)=x*+x"-x+1 ‘ 18. f(x)=x*+x"+x+1

19. f(x)=2x"+x-3 ' 20. F(x)=5x"+x*—3x -2

21. f(x)=x*—x*+x"-3 22. f(x)=2x"-x"+3x+13
23. f(x)=x"—x* +5¢ —3x" +4x—6 24, f(x)=x°+2x" —6x* —3x =9
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